17

O
1.
2
3.
2
2.
€
P (pass)= Xp(Ve,)
exp(VPn ) +1
6
Voo =B + Zﬂk Xpn
k=1
( ) P, (pass) n

Ven n
Bo. By (k=1 6)
X1pn n [sec]
Xapn n

(1: 0=
X3Pr| n

(1= 0=
X4Pn n

(_’]_: 0=
Xspn (1= 0=

)

X6Pn (1: 0= )

Yukio HASHIMOTO,Motomune KATAOKA, Toshio YOSHII and Ryuichi KITAMURA

IV -49



17

1
1
48m 58 3
43m 72 3
3 140 143 181
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t
-1.65 0.17 -9.57 0.00%*
0.57 0.41 1.40 0.16
0.70 0.49 1.43 0.15
-0.08 0.47 -0.18 0.86
-0.25 0.45 -0.54 0.59
0.74 0.41 1.81 0.07
8.32 1.03 8.07 0.00
x° 502.9
91.1
1-(L(B)/L(0) 0.736
() 564
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